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Total Time: 3 Hours Max: Marks: 75 -
Note:  There are THREE becumls of this I’nper i e AR and C‘, attempt each according to the given inslructmns
Time: 20 Minutes SECTION-A Marks: 15
Nute: Attempt all parts of becuon — A. Section ~A must be return to the superintendent after 20 minutes
cven if you have not attempted any ‘question. Overwriting/ defacmg/Cutlmg etc is prohibited in
Section-A and no credit will be given Lo such answer.
L Write the correct option i.e. A/B/C/D in the empty boxes.

owA=l ] then st = -

- 2 22  masmnad '
o 3l _1f=1 =B8] ei[=2 =3] gn1[~2 =
(A’"a[--z 1]“” a[-z, 2] (C)El-z 1] WH| 2 1]-

i, The multiplicative inverse of V3 is i ) ' , .
W=v3 - ) L  ©v=3 - @ =L (83

Il r
M. vyl Xvyi=

C(AWE - @®-i . © 1 . ) V-1
iv. Characteristic of log(3250) is ,
GV (B) -1 ©2 . (D3
v. logl=y,thenm= . -
(A)mY. . B) mxy c) y™ (D) .
vi. E\plcssmu of the form Lix) (@(x)# 0 0r Nisa____
Q{x)
(A). Rational algebric expression  (B) Binomial expression
- (C) Rational expression , (D) Noneof'these
© il Conjugate of (3= V5)is G
A HYE) L BY=3-VE) OB +VE) @) (=3+V5)

il Factors of x2 4 2x - 24 are _

Ay (x+ 1), (x - 6) (B)(x—4)(x+6) - (C) (x +3), (x = 8) M(x + 8), (x =-3)
ix. LCMof(@*~a+1)and(@®+is._____
(A) (@ + 1) B)(e?—a+1) C)a*+a+1) O)(a+1)

. Simpliticd Ibrm'uf( P, 0 ] is
a+b a’-b*

y A By Oz O
 xi. The solution set of Vx = ~10is, ' L
‘ (A) {10} (B) (100} (O{~100} D) {-10}
’ xii. 'The two coordinate axis intersect at an angle of _
(A)c>0° (1B3)30° . (C) 45° (D) 90°
xiii. _f' Yo, n--[_"_-_;ig_) iscalled ____ '
: \ 2 ) _—
' (,’\) Mid-Point formala (B) Distance formula
(C) Ratio formula ) (D) Division formula ~

xiv. llow many right angles cun be there in a triangle?
(A) At least one (B)ywo (C)Atmostone (D) very from triangle to triangle
XV, e Sides of pmalldngl am are congraent '

e

? A) All aneles (N0OPposite sides (O All mdes (DY Adjacent sides
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Note: Time alldwbd for scction B and C is 2 hours and 40 minutes. |
| SF,,CTION “Br - . ‘Marks: 36
- lI ' Attcmpt any NINE Parts out oi' the follm\ ing. T}adl Part carries tqual mar ks

Lo IfA—[ 23 ) i] lhencomputeA -

- ; 11 If A [1 3. i]and B = [ 21 ]] then ehow that (A+B) Al FB‘ '
il Simpli_fy (2865)%‘ withihch(:lp of Iogz_xrithms. .

aby”

v, l.IS'irhpl{/-j; (

B

v, Find the quouenl [ 7 } , wheie Z, = T4Gi £, =91

-2

vi.  Prove that cr3 +b* = (a+b)a* —ab+ D).
vii, . Faclorize x4t +1
viii.  For what value of “a ? (2x% = ax? — 2ax + 3x + 2)is echtly divisibie by(x + 1)

iX. Fmd the L. C. M of (.1:2 +3x + 2) and (x* + 5x + 6) by factorization method.

X, simplify [ _x__, 2> ).
o Xty x4y

xi.  Solve the radical equation ,__,_..__-‘W;""’ =2
xii.~  Draw the graph of 2x —y = 6.
SECTION “C? . | Marks:24

Note. Attempt any THREE questions of the following. Each qucstion carries equal Marks.
"L 7 Show thal the points (3, 2), (4 1), (5, 4) and (6, 3) are the vertices of a parallelogram.
IV. . If two opposite sides of a quadrllatclal are oong,ruent and parallcl, itisa pa‘rallcl%mm.

V., Any pomt on the right blsuctm of a line scgm(.nt is qulldl‘ildnl from its Llld poml

VL Construct a ALMN wheu.. mIM= 6cm, m< I 75) adm <M= 450



